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i txzex | NS | EW | cxnz22% | NS | EW | #1 | #4 [#1 | #4 |1 ] #a Mean NS EW
15| S NS 3NW-1 50 3NW4 430 480 10 EW260 7 5
16 | W | EW 4SXN-2 300 4SXN-2 300 EW290
17 | N |None 3CN4 130 3CN4 130 NS210 -2 2
18 E NS 4SXW-1 100 4CN-1 100 200 5 NS10 3 3
19| S | EW 3NW5 660 3NW5 660 EW640 -1 1
20 | W |Both 3NE4 630 3NE5 660 30 1 EW620 1
21 N NS 3NN4 630 3NS-1 100 730 12 NS240 9 8
22 E | EW 5HXS5 650 5HS5 450 200 5 NS200 10 -6
23 | S |Both 1NW2 120 1NW2 120 EW120
24 | W [None 3sw4 170 2SE4 170 EW160
25| N | EW 3NE-1 100 4SE4 620 720 12 EW130 6 10
26 E |Both 5DS5 600 3NN4 630 30 1 NS560 1 -2
27 | S [None 3NS-1 50 3NS-1 50 NS40 -3 3
28 | W | NS 5DXE-2 300 4SN-2 200 500 11 NS10 7 5
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¥l z9zmx [ NS | EW | mz2s | NS | EW | #2 | #5 | #2 | #5 | #2 | #5 || Mean | Ns EW
15| s | NS | 3sxs-2 500 3NW3 400 100 3 EW260 | -6 4
16| W | EW | 4sxn-2 300 5DW-1 100 400 9 EW290 -9
17 | N |None|  3HS4 170 3SXW-4 | 800 630 12 NS210 | -1 -1
18| E | NS 3NS-1 100 3SXW3 530 | 430 10 NS10 | -3 1
19| s | EW 3INW4 630 3NW4 630 EW640
20 | W |Both|  3NE4 630 3NE3 600 30 1 EW620 -
21| N | NS 3NS-1 100 3NS-2 200 | 100 3 NS240 | -8 10
2| E | EW 6HN-1 50 6HXS-1 100 | 50 2 NS200 | -6 7
23| s |Both| 1NW3 150 1NW2 120 30 1 EW120 | -1
24 | W |None|]  3sE4 170 2SW4 170 EW160
25| N | EW 4SE-1 100 3NE3 600 | 700 12 EW130| 6 10
26 | E |Both|  3NN5 660 3NN5 660 NS560 | 3 -3
27| S |None|]  3NN3 400 3NS-1 50 | 450 10 NS40 8 3
28 | W | NS 3NS-1 100 4SN-3 300 | 200 5 NS10 | -3 7
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¥l 29zmx [ NS | EW | 25z2% | NS | EW | #3 | #6 | #3 | #6 | #3 | #6 || Mean | Ns EW
15| S | NS INW-2 100 3NW4 430 | 530 1 EW260 | 8 5
16| W | EW 3NWS5 660 4SXN-2 300 360 8 EW290 | -9
17 | N |None|  3cNa 130 4HS-2 100 | 230 6 NS210 | -2 7
18| E | NS 3NS3 600 4SXW-1 | 100 500 1 NS10 | 11 -3
19| s | EW 4HW5 650 4HW5 650 EW640
20 | W |Both|  3NE4 630 3NE3 600 30 1 EW620 -
21| N | NS 3NN4 630 3NN4 630 NS240 | 9 9
22| E|EW| 5CxN5 550 6HXS-2 300 | 850 13 NS200 | 8 1
23| s |Both| 1NW1 90 1NW2 120 | 30 1 EW120 | 1
24 | W |None|]  2sE4 170 3SE3 140 30 1 EW160 -
25| N | EW 3NE-1 100 3NE-1 100 EW130| 6 6
26 | E |Both| 3SE-2 200 3NN5 660 460 10 NS560 | -8 -3
27| S |None|  3NN-1 50 2DN2 90 140 4 NS40 | -3 2
28| W | Ns| sDXeE3 | 500 4SN-1 100 | 600 12 NS10 | 10 3
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b= Hr2% | NS | EW | %255 | NS | EW | #4 | #1 | #4 | #1 | #4 [ #1 Mean | NS EW
15| S NS 3NW4 430 3NW-1 50 480 10 EW260 -5 -7
16 | W | EW 4SXN-2 300 4SXN-2 300 EW290
17 | N [None 3CN4 130 3CN4 130 NS210 -2 2
18 E NS 4CN-1 100 4SXW-1 100 200 5 NS10 -3 -3
19| S | EW 3NW5 660 3NW5 660 EW640 -1 1
20 | W |Both 3NE5 660 3NE4 630 30 1 EW620 -1
21 N NS 3NS-1 100 3NN4 630 730 12 NS240 -8 -9
22 E EW 5HS5 450 5HXS5 650 200 5 NS200 6 -10
23 | S |Both 1NW2 120 1NW2 120 EW120
24 | W |None 2SE4 170 3Sw4 170 EW160
25| N | EW 4SE4 620 3NE-1 100 720 12 EW130 -10 -6
26 E |Both 3NN4 630 5DS5 600 30 1 NS560 2 -1
27 | S |[None 3NS-1 50 3NS-1 50 NS40 -3 3
28 | W | NS 4SN-2 200 5DXE-2 300 500 11 NS10 -5 -7
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Kl z9zmx | NS [ EW | 25z2% | NS | EW | #5 | #2 | #5 | #2 | #5 | #2 || Mean | Ns | EW
15| s | NS 3NW3 400 3SXS-2 500 | 100 3 EW260 | -4 6
16| wW|EW| 5DW-1 100 4SXN-2 300 | 400 9 EW290 | 9
17 | N |None| 3sxw-4 | 800 3HS4 170 630 12 NS210 | 11 1
18| E | Ns| 3sxws 530 3NS-1 100 430 10 NS10 | -11 3
19| s |Ew| 3Nwa 630 3NW4 630 EW640
20 | W [Both|  3NE3 600 3NE4 630 | 30 1 EW620 | 1
21| N | NS 3NS-2 200 3NS-1 100 100 3 NS240 | -10 8
22| E |EW/| 6Hxs-1 100 6HN-1 50 50 2 NS200 | -7 6
23| s [Both| 1Nw2 120 1NW3 150 | 30 1 EW120 1
24 | W [None| 2swa4 170 3SE4 170 EW160
25| N | EW 3NE3 600 4SE-1 100 700 12 EW130 | -10 -6
26 | E |Both|  3NN5 660 3NN5 660 NS560 | 3 3
27| S |[None|  3Ns-1 50 3NN3 400 450 10 NS40 | -3 -8
28 | W | NS 4SN-3 300 3NS-1 100 200 5 NS10 | -7 3
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1
R txz 2% | NS | EW | 29223 | NS | EW | #6 | #3 | #6 | #3 | #6 | #3 Mean NS EW
15| S NS 3NW4 430 3NW-2 100 530 1 EW260 -5 -8
16 | W | EW 4SXN-2 300 3NW5 660 360 8 EW290 9
17 | N |None 4HS-2 100 3CN4 130 230 6 NS210 -7 2
18 E NS 4SXW-1 100 3NS3 600 500 11 NS10 3 -11
19| S | EW 4HW5 650 4HW5 650 EW640
20 | W |Both 3NE3 600 3NE4 630 30 1 EW620 1
21 N NS 3NN4 630 3NN4 630 NS240 9 9
22 E EW 6HXS-2 300 5CXN5 550 850 13 NS200 -11 -8
23 | S |Both 1NW2 120 1NW1 90 30 1 EW120 -1
24 | W |None 3SE3 140 2SE4 170 30 1 EW160 1
25| N | EW 3NE-1 100 3NE-1 100 EW130 6 -6
26 E |Both 3NN5 660 3SE-2 200 460 10 NS560 3 8
27 | S [None 2DN2 90 3NN-1 50 140 4 NS40 2 3
28 | W | NS 4SN-1 100 5DXE-3 500 600 12 NS10 -3 -10
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